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1. 5 A% RAMHER

(Bf7 . FBbl)

83 84 TR RS SR (%)

, 5 1—5 5 1-5 5 1—5
B o # A 15, 408 70,914 15, 945 82,721 3.4 16.6
(FEamf, +8) (435,988) | (2,129, 353) (456,203) | (2,348, 067) 4.6) (10.3)
B B Kk B 15, 463 74,311 14, 850 83, 549 24,0 12.4

# B 2 %) (63.1) (62.3) (60. 6) (69. 6)
8 & £ E 15, 297 73, 201 14, 586 82, 282 ~4.6 12.4
R H % 16, 602 78, 139 15, 133 82, 203 ~8.8 5.2
@5 & A 2,123 7,663 2, 449 9,801 - 15.4 27.9
& & 8 4 1,344 3,937 1,850 8,959 37.6 127.6
2. Ei FhEAXE
(B . FBbl)
83 : 84

5 1—5 HERLIE (%) 5 1—5 RERLIE (%)
A% o 6, 252 21, 289 30.2 3,175 14,738 17.8
o4 o] E 1,709 7,765 10.9 871 7,020 8.5
o] 2 996 14, 366 20.2 3,221 12, 860 15.6
Kl gk 1,530 5,741 8.1 1,685 10, 950 13.2
o] A E 417 1,687 2.4 306 1,179 1.4
2 ul o} 1,500 4, 650 6.6 563 3,614 4.4
ol = vl 4] o} 768 2, 834 4.0 681 7,857 9.5
% o8l o] x| o} 548 1,557 2.2 2,211 6, 409 7.7
B2 R e 1,003 3,330 4.7 512 2,787 3.4
of B x = 683 4,824 6.8 2,246 2.7
g 4 A= 1,513 2.1 2, 564 3.1
7] E} 1,356 L9 2,720 10, 497 12.7
# A 15, 408 70,914 100 15, 945 82, 721 100
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3. 5B RHEEERE

(Bf . FBh)

83 84 BT RIS H 18 (%)

5 1+5 5 1—5 5 1—5
B % & 5t 419 1,819 421 2,123 0.5 16.7
A + 83 423 48 419 2422 20,9
L3 £ 336 1,396 373 1,704 11.0 22.1
1B b 562 3,446 543 3, 968 23,4 15.1
A B 4, 451 18,710 4,080 21,537 28,3 15.1
0.4% 1,219 4,523 1,130 7,650 AT7.3 69. 1
1.0% 3,232 14, 187 2,950 13, 887 08,7 o2 1
B H B H 150 820 216 942 44.0 14.9
B i 83 397 108 441 30. 1 1.1
B~C & 4 6, 222 32,259 5, 653 33, 651 29,1 4,3
1.6% 125 3, 860 407 5,519 225.6 43.0
2.5% 1,155 3, 495 1, 155 3, 743 0.0 7.1
4.0% 4,942 24, 904 4,091 24, 389 alr 2 o2.1
®H E  H 841 3,793 869 4,477 3.3 18.0
M = A — —- — — — —
L = E} 1,753 8, 503 1,922 11, 242 9.6 32,2
B # 107 322 77 | 77 414 £28.0 28.6
= =2 o 123 751 138 845 12.2 12.5
g Et 308 1, 669 305 1,989 Al1.0 19,2
ofF =~ & E 278 712 254 653 A8.6 £8.3
& 5 15, 297 73, 201 14, 586 82, 282 24,6 12.4
4. 5Bt AHEHBEM ({5 © FBbl)

83 ‘ 84 RiT4E BRI LB (%)

5 1—5 5 1—5 5 1—5
B % &m &t 396 1,733 457 2,010 15. 4 16.0
i e 90 342 79 339 al2.2 20,9
-3 % 306 | 1,391 378 1,671 23.5 20.1
& P 574 3,274 556 3,721 A3, 1 13.7
:cO:: R 3,762 17, 681 4,095 20, 596 8.9 16.5
0.4% 986 4, 643 1, 794 8,517 81.9 83, 4
1.0% 2,776 13, 038 2,301 12, 079 al7 1 AT 4
B W OB 4 142 818 165 887 16. 2 8.4
= s 67 324 73 - 376 9.0 16,0
B—-C & &t 7,939 37, 609 6, 036 35, 400 24,0 A 5.9
1.6% 803 6, 490 1,036 8,678 29.0 33.7
2.5% 1,325 4,179 1,179 3,613 110 Al13.5
4.0% 5, 811 26, 940 3,821 23, 109 234, 2 Ald, 2
H  E 526 3, 051 634 3, 425 20.5 12.3
it %= 0,138 0. 456 0.120 0. 359 2130 21,3
L =  E} 2, 050 8,724 1,779 9, 842 A13.2 12.8
P # 88 347 79 394 210.2 13.5
= 2 304 1,563 387 2,162 27.3 38.3
= Et 512 2,328 612 2,722 19.5 16.9
of ~ & = 242 687 260 668 7.4 02,8
& B 16, 602 78, 139 15, 133 82, 203 £8.8 5,2
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